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The bike I bought last year dropped in value
by 20% this year.

It is now only worth £160.

How much must I have paid for the bike ?
Copy and complete -

New value = 80% (100% — 20%)
1% = £160 =80

100% = 100 x £2

15% of the maths students at
Strathtay University dropped

out of their course during

their first year

That left 255 students remaining.

How many students must there have been at
the beginning of the year ?

When a window was left open for 10 minutes,
the temperature dropped by 35% to 19-5°C.

What was the temperature before the window
was opened ?

When Donald sold his flat, he lost 3% of what
he had originally paid for it

He only got £43 650 for his flat.

What must Donald have paid for the flat when
he bought it ?




